
B 

There are ………………...grams in one kilogram. 

There are …………………. kilograms in one tonne. 

There are ………………… mm in one centimetre. 

There are …………………. cm in one metre. 

There are …………………… m in one kilometre. 

g kg 

3,000  

1,500  

 2.73 

 4.05 

3,012  

 4.002 

 0.06 

12,950  

kg tonnes 

12,430  

1,205  

 2.023 

 4.008 

3,020  

 0.27 

 1.008 

 5.09 

mm cm m km 

36,000    

 2,840   

  1,321  

   0.8 

 25   

  60  

   0.005 

1,000    

What is the same and what is different between 1.505km and 1.550km. 

Are the zeros needed? Why or why not? 


